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- HEag
= 100,000 x 1% x 128 = 1,200,000
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R 800,000 590,000  210,000|[E 500,000] [t 90,000]
800,000 590,000  210,000|O ISt £ 500,000] Xt 90,000]
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o 807580 739,760  87,820|O O [ 727,580] [X} 12,180]
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R
A 10l 1,023,000& x 55% x 23| = 1,125,300
o KL
A 10l 1,023,000& x 35% x 93] = 3,222,450
1,055,000& x 35% x 33| = 1,107,750
o HMIECHeEH|
A2 10l 1,023,000& x 25% x 13| = 255,750
1,055,0008 x 25% x 13| = 263,750
o SESIH|
A 10l 1,023,000& x 60% x 23| = 1,227,600
o MIHALI

A
[0 40
o

170,000& x 122 = 2,040,000




(FSOB LB AIE 24+ HAIM) (SR 22

¥ = _
(I 2tk Z2(n) MEYY
2 El =
O AH 2 HI[1T]e A Hi2HM & ¢ > WEY|

2l 10l 60,0008 x 122 = 720,000

o BAIPEAL
=2l 10l 100,002 x 122 = 1,200,000

° JERY
=2l 10l 80,0002 x 122 = 960,000
(5l X = | 2570000 2567472 2528 O Xl glxizizia [Al 2,567,000] [X 472]
85 A8 3 > Xl 10l = 2567472
116|AtE BB 2 2] 226000 2225210 70| O ABl2ElzE B S22 [Al 2,225,000] [Xt 210]
o IR 2RATE NE-MTEE = 225210
12|22 8y 133,000| 133,000 0| [Al 133,000]

210 2 2 % 133000| 133,000 0| O 2| [Al 133,000]
° SEIR L ZCORN B9IK 22| S = 133,000

13lg ¢ 26,087,580| 25,037,580| 1,050,000/ [Al 25,037,580]
132|480 ¢ 448 15866000 15866000 0| O 280 ¥ 422 [Al 15,866,000]
o ZCOPRY DR 2URI2 = 12,000,000
o HCOPI WA W= 22 = 350
° ZEOP APSE U ADE 10 = 3542500
1332 = 2 2| 6450,000] 6,000,000 450,000| O 2ZL2 [Al 6,000,000]
- F|H3I2, 22l QHLBE = 6,000,000




(FSOR LB AIE 24 HAIM) (S 22

i) =
Ofl &k ZAHH Z2(A) MEU A
o 8 =
O A 2 HI[ 132 @ HI[1[M M B B 3| 971580 871,580 100,000 O MAZMS [Al 871,580]
- USET NSTA|, BINEPES, PER S = 871,580
135X &  HI| 2,600,000/ 2,300,000| 300,000 O xzH [Al 2,300,000]
USER RE0, 2AR, 42l S = 2,300,000
136/% &  Hl| 200,000 0| 200,000
02 M & X & Hll21 A & 1,002,000 0 1,002,000
211 A & 1,000 0 1,000
212 % & 3 S 1,000 0 1,000
213 Al BHIR Xl | 1,000,000 0 1,000,000
03 At @ I 31 |2 BHA Yl 6,459,420 6,459,420 0|[Al 6,459,420]
31112 BF AL HI| 6459,420| 6,459,420 0 O ki) [Al 6,459,420]
- ZCORI 2YSEIN HE = 1,500,000
- ESOP J|RAIR 428 28 A = 972,400
- ZCOPI B92E MR = 3,987,020
08 [GiHIbI & DIEH 81 Cibldl & DIEt 2,765,000 0 2,765,000
81|01 8 Hl| 2665000 0 2,665,000
gi2|gt  # 2| 100,000 0 100,000




NE=XIEIE 22

= S22 ME

24 SAMIA

(CHol: 2
) g = Ol & 4 Z oo 32 (4) A o
178,072,000{ 190,558,013 A12,486,013|[= 109,558,013]
CRE=RS 149,000,000|  161,478,820| 112,478,820 |[= 161,478.820]
F23+¢ 149,000,000|  161,478,820| 112,478,820 |[= 161,478.820]
£ @ 2| 183,000,000/ 139,270,000| ~6,270,000|[= 139,270,000]
O TprRzet 222 10,220,000
O Hrigsie 5213 740,000
O NZZAESTIR 2223 16,370,000
O JEREZ22 8,690,000
O ORISEABI=TIR 522 6,190,000
O ORIORIIY S22 2,080,000
O 2016ARIRIZRITIAR é%m 15,000,000
O JOC)EOIEIAMY SR MEZRINSTADIZHE) = 50,000,000
O umm%uaﬂmm §1 O] HZERIS) 20,000,000
O @23ZCHT NADIE 5243 10,000,000
16,000,000 22,208,820 £6,208,820 |[= 22,208,820]
O Agl=RINg S22 22,208,820
=l 2 29,061,000 29,061,654 A654| O HE0—FS = 2906164
11,000 17,539 AB,539|[= 17,529]
ju}
ol 10,000 16,211 26,211 | O JIEIIZ0IXL = 6,211
& 1,000 1,328 A328 |0 JEES = 1,328




M=Kl 2= SEBIH Mz 24 SAA

(B9 &
el g = e | Faw | B2(n) 4B U
5 178072000  160,383860| 17,688,140 [ 160.383860]
o 146200000 140383860|  5:816,140|% 140.383860]
3|2 ¥ A gy 146200000 140383860|  5:816,140|% 140.383860]
311 [LXESAAI | 1,000,000 0| 1,000,000
TSNS -
313 JIEMESANYI | 12000000] 8078000 3.922,000 | [8078000]
O HASIH M2 IESR(1IK) - %00
O 20164 HiLIstiE XIESRAR = 3,200,000
O RS 2310 TEPRAe = 3600
O TR el ks Xigl A = 8000
201622 I
314|VTOMSIBE] 15000000, 15000000 0|0 20BARCRETNZHINESSTE) = 15000000
3i5| JMELSEHE | 20000000 20000000 0| O DBILKSZIBIISRARIB=0ME] HEERIS) = 20,000,000
JDCIIE O RO (HEZHTREADIE) =
316(% Ox° ' o ul| 50000000 50000000 0| O JDCFECBNIHFTHRISSADILHE] = 50,000,000




(9 2
o & = Ol &b K Z Ao &2 (1) & E W 9
03|AF & HI|31 |2 B A O HI 317 [HINBSSAIEI | 352000000 34315860 834,140 | [ 34:315,860]
O 22|
o #2Y), BTOZ Y OBAAR S = 7,769,860
O et
NSISXIZEMRS (MEI=XIo DIEAR) = 3538,000
o HFLHSTHEH = 5,004,000
O Al
- Bol5| HiZARIE 2IPHY A S = 17,914,000
o = Z2#|® =z 2 23500000/ 20,000,000/ 3,500,000
M2 QA MES| 235000000 20,000,000  3500,000 | [ 20,000000]
O &23
VCIEWEEE = 15,000,000
- Ol2jofRI0lE FE2 = 5,000,000
o7l XN ETME N OBTME XN B 1,000 0 1,000
08| 0iiIbI 2 JIEH 81 |oibIbl 2 JIE 27,919,000 0| 27,919,000
git|ol B Bl 27,819,000 0| 27,819,000
giojgt  # 2 100,000 0 100,000




MELU=FE0RE! 2

_C’D__I

23 SE9J ME

24

2 8 = W | AW | EA () o
5 167,080,000 176872391 10,207,609 [% 176,872,391]
a2+ 64,000,000 53735000 10,265,000 [ 55,735,000]
s34 64,000,000 53735000 10,265,000 [ 55,735,000]
I E %A 3 28000000 18500,000( 95500000 [% 18500000]

O Z82=q2 IIXUIE*O‘-?P =

O e=0tARITH2HAI =
BIXESE3| %0000 35285000 765,000 [% 3523,00]

O QB33 =

O JEHINEE2Z -

2 SeRAEC 0S| 128069000 123,069,700 AT00|O BAZ0IEE = 123,069,700] =

11,000 67601 156,691 [ 67691] -

JIEHHI= Ol Rt 10,000 66,592 N56,592 | O JEH=20 IR =

ol B E 4 Y 1,000 1,099 A99| O JERE -

10




MNEUSFEIR! 2= SEBaJ Mz 24 SAHA

(el 2
el 8 = o & o 2o | B2 (A S4B o
g Al 187,080,000 28,507,330 158,572,670 | [Z 28,507,330]
O3|AF & HI|31|g Bt A 4 132,000,000 28,507,330 103,492,670 | [% 28,507,330]
M|NE=3 AL 28,000,000 18,500,000 9,500,000 | [= 18,500,000]
O 233 N&|E SRAH = 3,500,000
O e=0IAR] THeHAIZE S At = 15,000,000
312 |[HIXI B =& ArZHI 104,000,000 10,007,330 93,992,670 | [& 10,007,330]
O 23
MEASE 2 OVMS=E = 1,241,020
O LAl
o EEORN 012X KAIRES 2 S = 8766310
‘& £ 34 |H £ :412U'=1 9 A< 1,000 0 1,000
(s = =] (] = =] @ % g y ,
oy XN =g N sME Xl = 1,000 0 1,000
08 | GibIBl & DIEH 81 [oHIBIHI & JIEH 55,078,000 0 55,078,000
811 |0l a ul 54,978,000 0 54,978,000

X
no
rx
ron
o0y
S
(@)

100,000




SAA

[

AZISTIAE MTHAMOIEKI(EIE) EX1 XIRAY SHIH A 2
(=S )
z & 2 Ol ahod | H M | B2 (A) s o
200,000,000 | 156,160,000 | 43,840,000/ [% 156,160,000]
SEZz+Y 200,000,000 | 156,160,000 | 43,840,000|[% 156,160,000]
5112334 511K &8 = & =|200,000,000 | 156,160,000 | 43,840,000] O XNE¥=R3 [Z 156,160,000]
o AlRISXIAIE B ZeNdad] X KZAE XNE 2=
(R0 ZAD = 156,160,000
AZISTIAIE ATHIAMUXI(EIZE) SX1 XIJAKY SE3IH HE 24 YA
(91 2)
2 & 2 Ol &b | 2 pa | =2 (A & 2 U o
£ A 200,000,000 | 156,160,000 | 43,840,000 |[% 156,160,000]
03 [Ab & HI 200,000,000 | 156,160,000 | 43,840,000 |[Z 156,160,000]
B e &L
31| et At dI|311|12 X A & | 200,000,000 | 156,160,000 | 43,840,000 [Z 156,160,000]
Al
O AIBISXIAIE BN AR KEAE = 156,160,000




